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FRESHERS NOW

PART—I / wis—I
CHILD DEVELOPMENT AND PEDAGOGY |/ fre faamt @ frseteat

Directions : Answer the following questions by
selecting the correct option.

1.

4.

Maria Montessori was a/an
(A) German physician

(B) Greek physician

(C) Italian physician

(D) None of the above

. Which one of the following is not a

characteristic of ‘G factors’ with reference
to ‘two-factor theory’?

(A) It is universal inborn ability

(B) It is learnt and hence acquired in the
environment

(C) It is general mental ability

(D) None of the above

. Which one of the following factors of

‘primary mental ability’ enables the
individual to do numerical calculations
rapidly and accurately?

(A) Verbal factor
(B) Reasoning factor
(C) Number factor

(D) None of the above

According to whom, human intelligence
is composed of three dimensions, viz.,
operations, contents and products, as
detected by factor analysis?

(A) Alfred Binet
(B) L. L. Thurstone
(C) E. L. Thorndike

(D) None of them

RL19/MPR-I/A

faciPie « 70 Teg fafon e e apasfem Teg
e |

1. IR TR f@ww aFem
(A) s e
(B) = Ffleo
(C) TiferE fofseo
(D) TR (@02 T

2. B-Tome g afFce Tow @
‘G ToAM’-9F (3¥Er o 2

(A) @fb TG TIeTe FTel

B) @b Fremzng @R O “Ifsc-wfefe
(C) @b e TP Tl

(D) TPiEd (AR T

3. Fare ‘aefis TEbE wwers Thmmalem
T @ TAmED afeE Wik TR T e
AT e TN 2

(A) SIS T
(B) Ifesre Tome
(C) RIS T
(D) ToiEa (e T
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e el 1 2@ 2

(A) T [/
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(C) 2. @1 «efuizs
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5. The book, Hereditary Genius was written 5. ‘@EfHR S @63 @9F 2=

by
A) GF. MG
(A) F. Galton W
B) <«
(B) Vernon B
(C) ce. fo1. fomicere

(C) J. P. Guilford

(D) 4@ (FT3 7
(D) None of them

6. ‘Toafrrs wief =9

6. Dysgraphia’ means

(A) [ TP
(A) difficulty in reading

(B) for<=1 /o
(B) difficulty in writing

_ _ _ (C) TwmIffe S/l WRee Al T
(C) difficulty in  grasping spoken

1
angrase (D) T (FFe T

(D) None of the above

7. o TEre e T & T FET @

“ﬁ;rﬁ;f Wm zm. Iﬁq— [79 (7
7. Who among the following admitted that = °

“education is a social need”?

(A) 0
(A) Rousseau .

B) fe
(B) Binet

(C) foTg
(C) Dewey

(D) 4@ (FT3 7
(D) None of them

8. Jft fiot @ Sy afsfFme a7 93
TGS qECR, @ TAE  (@AMRE @G3R

8. It refers to the undesired response with

an outcome that is painful or not liked. SRVEAF |

(A) Positive reinforcement (A) WML W(ETRS TSl

(B) Aversive conditioning (B) ﬁ?ﬂ‘?ﬁﬂ?ﬁ (aversive) *fewr® el
(C) Reinforcement (C) *fewRs Tel

(D) None of the above (D) TER (@R T

RL19/MPR-I/A 3 [ P.T.O.
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9.

10.

11.

12.

Which one of the following is the best
method to evaluate the achievement of
students?

(A) Continuous evaluation
(B) Annual evaluation
(C) Quarterly evaluation

(D) None of the above

Which of the following is the main
purpose of assessment?

(A) To promote the child to the next class

(B) To measure the achievement of the
child

(C) To point out the errors of the child

(D) None of the above

Special education is associated with the
educational programme for the

(A) disabled and gifted both
(B) disabled only
(C) teachers’ training

(D) None of the above

A student with ‘isual

should be

impairment’

(A) excluded from the normal class
(B) provided support with audio CDs

(C) asked to take help from the parents
for classwork

(D) None of the above

RL19/MPR-I/A
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11.

12.
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13.

14.

15.

16.

Which one of the following is not correct
regarding the concept of assessment?

(A) Assessment provides feedback to the
teacher and learner

(B) Assessment directs the weakness of
the learner

(C) Assessment provides feedback to the
learner only

(D) None of the above

Measurement is

(A) a product

(B) a judgement

(C) an evaluation

(D) None of the above

In this type of test, the item problems
are arranged in increasing order of
difficulty.

(A) Power test
(B) Performance test
(C) Speed test

(D) None of the above

Plus curriculum is generally used in
(A) creative educational programme
(B) inclusive educational programme
(C) general educational programme

(D) None of the above

RL19/MPR-I/A

13.
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17. ‘Audiometer’ device is used to measure

18.

19.

20.

the learner’s activity.
(A) learning
(B) visual

(C) tactual

(D) None of the above

Which of the following is not a test for
measuring learning disability?

(A) Criterion reference test
(B) Informal reading inventory
(C) Standardized linguistic test

(D) None of the above

Which of the following tests is a
standardized Indian test for measuring
the creativity?

(A) Passi test of creativities
(B) Torrance test of creative thinking

(C) Getzels and Jackson test of creativity
thinking

(D) None of the above

This method is used for the deaf-learners
to learn proper grammatical construction
of a sentence.

(A) Braille method
(B) Fitzgerald key method
(C) Abacus method

(D) None of the above

RL19/MPR-I/A
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21.

22.

23.

24.

Which one of the following is not a type
of conditioning?

(A) Extinction
(B) Classical conditioning
(C) Operant conditioning

(D) None of the above

SQ4R technique in the development of
learning was proposed by

(A) Atkinson and Shiffrin
(B) Bower and Hilgard
(C) Thomas and Robinson

(D) None of them

education includes such learning
situations which do not have curriculum,
syllabus or certification but typically take
place naturally as part of other activities.

(A) Special
(B) Formal
(C) Non-formal

(D) None of the above

Which one of the following is the learning
error?

(A) Mathematical error
(B) Writing error
(C) Both (A) and (B)

(D) None of the above
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25.

26.

27.

In counselling session, when the
counsellor states what the client has just
said, using fewer words but without
changing the meaning of what the client
said, it is called

(A) paraphrasing

(B) communication

(C) decoding

(D) None of the above

Psychologist Gardner mentioned seven

types of intelligence. Which of the
following is not one of them?

(A) Interpersonal intelligence

(B) Musical intelligence

(C) Spatial intelligence

(D) None of the above

motives are considered as primary

motives.

(A) Psychological

(B) Physiological

(C) Social

(D) None of the above

RL19/MPR-I/A
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28.

29.

30.

Learning disability in motor skills is

called

(A) dyscalculia

(B) dyslexia

(C) dysphasia

(D) None of the above

The term ‘counselling’ is derived from the

Latin word

(A) crioulo

(B) consilium

(C) cri du chat

(D) None of the above

This type of counselling involves people

who drop out from the school and whose
difficulties are likely to be more severe.

(A) Community-based counselling

(B) School-based counselling

(C) Both (A) and (B)

(D) None of the above

RL19/MPR-I/A
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PART—II / wi9—II
LANGUAGE—I / S ¥I—I
ENGLISH / 23§

Directions (Q. Nos. 31-35) : Read the poem 34. Where does the tiger sleep?
given below and answer the questions that

A) At the forest pond
follow by selecting the correct option.

(

(B) In the poet’s room
May there always be tigers. O In the dark
In the jungles and tall grass (C) In the dark caverns
(

May the tiger’s roar be heard, D) None of the above

May his thunder

Be known in the land. 35. The last three lines of the poem show

At the forest pool, by moonlight (

May he drink and raise his head

Scenting the night wind. B

May he crouch low in the grass (C) the poet’s love for nature
(

When the herdsmen pass, D) None of the above

A) the poet’s sense of humour

) the poet’s arrogance

And slumber in dark caverns
When the sun is high.

(C) in his room

May there always be tigers. Directions (Q. Nos. 36-45) : Fill in the blank
But not so many, that one of them, taking the appropriate alternative from the
Might be tempted to come into my room given options in each of the following.
In search of meal !
36. Twelve inches make foot.
31. The poet wants the tigers to be A) a
(A) in jungle B) a
(B) everywhere () the
(

D) None of the above
(D) None of the above

37. Silver, as well as cotton, fallen in
32. What does ‘his thunder’ mean? price.
(A) Thundering clouds (A) is
(B) Tiger’s roar ) are

(B
(C) Poet’s voice (C) have
(

(D) None of the above D) None of the above

33. Why would the tiger raise his head? 38. _ gave you that knife?
(A) To show arrogance (A) Which
(B) To see the moon (B) What
(C) To look around (C) Who
(

(D) None of the above D) None of the above

RL19/MPR-I/A 10
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39. Peter played handball yesterday, = 44. 1 caught sight of _ in the mirror.
(A) did he? (A) themselves
(B) didn’t he? (B) theirselves
(C) has he? (C) himself

(D) None of the above (D) None of the above

45. We obey the laws.
40. Sent the parcel post.

(A) can
(A) through

(B) may
(B) by

(C) have
(C) at

(D) None of the above
(D) None of the above

46. The synonym of ‘precarious’ is

41. Here my brother.
(A) painful
(A) come .
(B) hinder
(B) comes

(C) uncertain

(C) can come (D) None of the above

(D) None of the above
47. The antonym of ‘allay’ is

42. Have you bought _ mangoes? (A) fanatic
(A) a little (B) acute
(B) some (C) soft
(C) any (D) None of the above

(D) None of the above . .
48. “In spite of all his brag he had to eat

humble pie.

43. 1 got by his enthusiasm. Here ‘o eat humble pie’ means

(A) carried away (A) to apologize humbly

(B) carried out (B) to anticipate
(C) carried off (C) to adapt
(D) None of the above (D) None of the above

RL19/MPR-I/A 11 [ P.T.O.
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Directions (Q. Nos. 49 and 50) : Rearrange the
jumbled structures to construct a meaningful

sentence.

49. very exciting

50.

Directions (Q. Nos.

can be
(2)

new country
(3)

(1)
travelling to a
(4)
(A) 1-2-4-3
(B) 3-2-4-1
(C) 4-3—2-1

(D) None of the above

of others
(2)

win the love

(1)

good manners

(4)

and respect
(3)

(A) 4-3-2-1
(B) 4-1-3-2
(C) 1-4-3-2

(D) None of the above

51-55) Answer the

following questions by selecting the correct
option.

51. Ivan Pavlov propounded a new theory of

learning known as

(A) operant conditioning
(B) classical conditioning
(C) concept conditioning

(D) None of the above

RL19/MPR-I/A

12

52.

53.

54.

55.
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is a learning disability that affects
handwriting and fine motor skills.

(A) Dysphasia
(B) Aphasia
(C) Dyscalculia

(D) None of the above

TBLT in second language teaching is
(A) Tool Based Language Teaching

(B) Task Book Language Teaching

(C) Task Based Language Teaching

(D) None of the above

Which of the following is not a study
skill?

(A) Collecting
encyclopaedia

information from an

(B) Writing formal reports

(C) Using a dictionary

(D) None of the above

Identify the word where the /6/ sound
occurs.

(A) Thread

(B) Then

(C) Those

(D) None of the above
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Directions (Q. Nos. 56-60) : Read the passage
given below and answer the questions that
follow by selecting the correct option.

The editorial policy of a popular daily is
controlled by two chief factors. The first is the
interest of the advertisers from whom it gets the
money which enables it to keep up its large
circulation. No widely circulated newspaper
dare support a public policy, howsoever much
in the national interest that might conflict with
the vested interests of its advertisers. On the
other hand, any product that refuses to pay the
advertising rates of a powerful national organ
will be denounced, smashed and driven off the
market. You are not allowed to use any product
that dissociates itself from the advertising ring.
All this is understandable, since big circulation
spells bankruptcy if the paper has to depend on
its sales for its revenue.

56. According to this passage, one of the
chief factors that controls the editorial
policy of a newspaper is

(A) the interest of the nation
(B) the interest of the advertisers
(C) the interest of the reader

(D) None of the above

57. Big circulation spells bankruptcy if the
paper depends on its sale for its revenue

because

(A) the advertisers will not be there to
support its cost of production

(B) to retain its big circulation, it will
have to be sold far below the cost of

its production

(C) the advertisers would drive it out of

circulation

(D) None of the above

RL19/MPR-I/A
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58. A widely circulated newspaper cannot
support a public policy

(A) unless it supports the national
interest

(B) unless it supports the popular belief

(C) unless it supports the interest of the
advertisers

(D) None of the above

59. If a producer refuses to pay high rates
of advertisement in a widely circulated

newspaper

(A) the circulation of the newspaper will
decrease

(B) the rival producers will come forward
with advertisements against that
produced

(C) the newspaper will cut its number of
pages to reduce its cost of production

(D) None of the above

60. The word closest in meaning to

‘condemned’ in the passage is

(A) smashed

(B) denounced

(C) controlled

(D) None of the above

[ P.T.O.
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Candidates have to answer Question Nos.
61 to 90 Either from Part—III (Bengali) Or
from Part—IV (Kokborok).

AIFIACE 2 R4 61 (ACF 90-9F TSI FACS 2(A
'Y Sl (1) (A B C—IV (FIFIEF)
(AT |

PART—III / <i9—III
LANGUAGE—II / ©¥I—II
BENGALI / iz

o MR T R LIRS TS (| I 4]
61 TR (AT 66 R} ACEF Ted FACO 3J |

e aT @R Y
SIS o1 20T, PP T

YErere [Reme—RemT 7o !

“ g S e Ra—
“rifere] (T ST FFHC “Af¥E
T | TR, T, T ¢ ]

g &, T 7S O &,
SCZME TR 7 Hfergire
355 27

laSa
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(A) = + 7&
(B) 712 + T
(C) = + &7q
(D) T*aa (@b

62. @3 I ‘FeRe’ *b (T IS 2
(A) F99 I
(B) IS
(C) SMH TS
(D) Toca (Fie T

63. @2 =0 u’ G =@
(A) SREER ANCE THregel
(B) O IR THIzgel
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(D) T @ T
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(A) T
(B) F
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(D) TR (P2 &
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(B) SO *7
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(D) ¥*IEa @Fe T
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(©) &M

(D) T#IEa @Ffe
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76.
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78.

TAEACA THAR GO ARG T 2%
(A) T
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(C) FTEFIa

(D) %7 @i T

I 8 LR facermeTe qE SR FCE
(A) 1861 f2%ic
(B) 1871 T2%ic
(C) 1867 fa%1c

(D) T°aa (@Fe
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(B) SR O
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Candidates have to answer Question Nos. 61

Part—IV (Kokborok).

to 90 Either from Part—III (Bengali) Or from

FRAFRANE 2 2 61 (AT 90 Teq FACO B
2 I () (ACF T2 S—IV  (FFEF)
(AT |

PART—IV / <i9—IV
LANGUAGE—II / ©¥I—II
KOKBOROK |/ $F39%

v : STl A [P AR 61 W-f B
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e o 32 TER’ | [ew o Sge Siftredg e
FAM Mewa’ FAGARM s (AT | TR A
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FIAGARE A FFER Aol Aesl 2T OB Al
fotIfer sl <[ferifel Zorco1ga Sesl 1 S|l et offerifer
IR RIS T | ~fereifel SIS FITREE T A M,
“offerfer ST 2 Rbe SR ©Ye SHRA (%
wee q RPRM Frere weqe e R, o’
2ERR[2 FIIH TN A2 ARl 1”7

61. Sfeoqq (Al FHAIR SRl o7 el e 2
(A) g <t
(B) el ST

(C) I =t
(D) TP A2A T

w2, @, A IR Te” ey TSR AYes]
77

(A) TSR Tl

(B) “ffemife sTeal

(C) I STr8s]

(D) ARl B F= A

62.
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63. I s A1 [FRF weqs Fetree wamz 23 2
(A) FIERE TS
(B) ez e
(C) TPl T

(D) TR 22T T

64. ‘TNz’ IR T IR LG ?
A) e FqE
(B) ‘qreriz’ o’

(C) ‘o’ 6l

(D) =PI 2T T

65. ‘s’ s -3 e
(A) TR AeTiafel e
(B) T Teriz

(C) Tl Nz

(D) SRR A2 T
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66. FIII( /2o FEAAT AARM e
(A) @
(B) C5YAR
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67. I AR TGS el Tl T8
(A) e
(B) IR
(C) Trme
(D) I A=A Tl

68. wof Remaf PR Fymea o=l AR

RIREECT)

(A) 2 e

(B) 2T YRt

(C) B fazl

(D) ARl AZA F A

69. ‘ols JAPT 918’ FFoR [REme TRl
(A) CRFIE Rl
(B) el (vl
(C) o S
(D) A AZA F A
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A) e Rl

(B) FFeR w17
(C) o9 Tl

(D) =PI 2T T

s Feeias’ Re@e TR
(A) e o
(B) R craf
(C) s creft

(D) ST 2T T

FEID 72T PR e e
(A) &= e

(B) T 9l 00
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74. PRI el FFN R e
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(A) CTRRRI
(B) TaM=mIe
(C) =
(D) TR AT 130

76. IFIP MR T WFIE P O GG

TP [2el[8. TSP 2

(A) wIfe vk FF

(B) fean (o) wrf 3
(C) AR vl 3

(D) TR AT 130
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(B) w2
(C) TR
(D) ARl B F= A
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FRESHERS NOW

PART—V [/ ©l9—V
MATHEMATICS / ifd®

Directions : Answer the following questions by

selecting the correct option.

91.

92.

93.

RL19/MPR-I/A

(9n6 —11) when divided by 8 would leave

a remainder
(&) 6
(B) 10
(©) 2

(D) None of the above

If

_3 — - - -
= +o 0=38+[@4+9+0],
R

o

=[3+@4+95]+6 and S=3+4(5+6

then

(A) all are equal
(B) P and Q are equal
(C) P and S are equal

(D) None of the above

The lines joining the middle points of the
sides of a triangle make

(A) four equilateral triangles

(B) four triangles similar to the original
triangle

(C) four isosceles triangles

(D) None of the above

22

P « s Tag i Fcg e apesfm Teg

7 |
91. 9n® -11) & 8 fCx 9 FACET ©IICE NS
R
(A) 6
(B) 10
©) 2
(D) Toicaa (e T
92. MW
P=2+2 Q-3+[@4+5+6],
R=[3+(4+5]+6 €& S=3:4(5+6 =
O
(A) BTN A
(B) P& Q M
(C) P& S M
(D) Toicaa (@b T
93. 3 fUgcem ISR IHRYBE J& FAE
NS TR
A) TR TR fagw
(B) vRfS fagw a1 o1 faqwcem e s
() oo Swfere fags
(D) ToiEa (e T
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94.

95.

96.

97.
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A rectangle ABCD is inscribed in a circle
with centre O. If AC is the diagonal and
ZBAC = 30° then the radius of the circle
will be equal to

(A) V3 pe
2

(B) 2BC
(C) BC
(D) None of the above

The ratio of volumes of two cylinders is
a: b and the ratio of their heights is c: d.
The ratio of their diameters will be
ad

A) —
(A) P
ad?
B) %

bc

b d

(D) None of the above

A rhombus OABC is drawn inside a circle
whose centre is at O in such a way that
the vertices A, B and C of the rhombus
If the area of the
rhombus is 32+/3 m2, then the radius of

are on the circle.

the circle will be

(A) 8m

(B) 64 m

(C) 32 m

(D) None of the above

Vessels A and B contain mixtures of milk
and water in the ratio 4:5 and 5:1
respectively. should
quantities of mixtures be taken from

In what ratio

A and B to form a mixture in which milk
and water are in the ratio 5:47?

(A) 2:3
B) 4:3
(C) 5:2
(D) None of the above
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O-FHRME «Ffb Jce ABCD &> RO
TEhfie Wzl AWM AC I W @R
ZBAC = 30° 2, &3 J&iod Py

(A) *2@ BC-&3 M 2¢q

(B) 2BC-47 T 2
(C) BC-47 ¥ 2
(D) T7cEa @ T

7l (PICeq WRSCT SEANS a:b R GO
THO AT c:d 20T, G TIOW DA
2

ad
A) ——
(A -

ad?

hc?

a C
© \/;Xd

(D) Toicaa (@b T

(B)

O-FERfNE @36 e OABC @3 I3
qIeId SEefRe @ @3 WA A, B 8 C
e T eS| A It ovawd
3243 F9(6R = o@ Jelvd TP 2@

(A) 8fi

(B) 64

©) 32

(D) I @A T

A € B *[@qi6ee 74 9. G [WEeld ST
UG 4:5 @R 5:1. A 8 B G (AT J

welce e oo e e el tef e
OIS T € TR HATS 5: 4 A2
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98. Vineet calculates his profit percentage on

99.

100.

101.

RL19/MPR-I/A

the selling price while Roshan calculates
his profit on the cost price. They find that
the difference of their profits is ¥275. If
the selling prices for both of them are the
same, Vineet gets 25% profit and Roshan
gets 15% profit. Then the selling price
will be

(A) ¥2,100
(B) 2,300
(C) 2,250

(D) None of the above

The greatest number of five digits, which
when divided by 4, 6, 14 and 20 leaves
respectively 1, 3, 11 and 17 as
remainders, will be

(A) 99957
(B) 99997
(C) 99930

(D) None of the above

If the rate of exchange is 7:50 dollars
for €100, then how many dollars will be
equal to ¥550°?

(A) 41-75 dollars

(B) 42:75 dollars

(C) 41-25 dollars

(D) None of the above
Ifa+b:b+c=c+d:d+a, then

(A) eithera=bora+b+c+d=0

(B) either a=cora+b+c+d=1

(C) eithera=cor a+b+c+d=0

(D) None of the above
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e @1 sices xrowdl 29 R T
f2oR 3@, 7R e @rE o[ e 2o FE
ST T | S (74T SO TS AL
T275. M OOW AT (AR RN
G2 77, [A® 25% #© A/ @R @ 15%
TS (9[0T AP O REmen 209

(A) ¥2,100
(B) ¥2,300
(C) ¥2,250

(D) A (@A T

6 (w7 Jzed WA AR 4, 6, 14 4R 20
@ ©e A WS 1, 3, 11 @R 17
T 7W, O R 24

(A) 99957
(B) 99997
(C) 99930

(D) ¥#I7a @Fe

I 7-50 TecHR [fEE €100 2008 =, ©@
F© TR ¥ 550 @7 A 2CF 2

(A) 41-75 @I
(B) 4275 W
(C) 41-25 T

(D) I @A T

M a+b:b+c=c+d:d+a T, OF
(A) a=b« N a+tb+c+d=0
B) a=c 9l a+b+c+d=1
C) Ma=cT9l a+b+c+d=0

(D) T*I7a @Fe T
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103.

104.

105.
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The compound interest on ¥ 24,000 at
15% per annum for 2% years will be
(A) ¥9,227
(B) €9,327
(C) ¥9,732
(D) None of the above
The value of
( 1 1 1 1 1 )
+ + + +
1x4 4x7 7x10 10x13 13x16
is
5
A) 2
(A) 6
1
B) =
(B) 3
3
c) 2
©) 3
(D) None of the above
The sum of two numbers is 528 and their
HCF is 33. The number of pairs of such
numbers satisfying the above condition
will be
(A) 6
B) 12
€) 4
(D) None of the above
If a cube has surface area S and volume
V, then the volume of the cube of surface
area 2S will be
A) V2V
(B) 2v2V
(C) 2V
(D) None of the above
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JRE 15% 2CE T 24,000-47 2% BEIGEH|
v T =3

(A) 9,227

(B) ¥9,327

(C) ¥9,732

(D) T7cEE (FFE T

( 1 1 1 1 1 )
+ + + +
1x4 4x7 7x10 10x13 13x16
G I+l 297
5

A o

1
B 3
3

© 3

(D) T7cEa @b T

vio MY IWE 528 R GrE 9. AL B,
33, TUETE [ (oo MR (HCTA IR 2@

A) 6

(D) TcEa e T

GFf TIFT OER CFATE S GR HF V,

qIP0F OCed CFATE 28 (e AT RS 2
(A) N2V

(B) 242V

(C) 2V

(D) ¥#I7a @Fe
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106.

107.

108.

1009.
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12 gallons equal
(A) 54480 ml
(B) 56680 ml
(C) 58840 ml

(D) None of the above

In a triangle ABC, ZCis an obtuse angle.
The bisectors of the exterior angles at A
and B meet BC and AC produced at D
and E respectively. If AB= AD = BE, then
ZACB will be

(A) 110°
(B) 105°
(C) 108°

(D) None of the above

The mean of 12,22, 32, 42 ..., 192, 20°
is
(A) 1435
(B) 1345
(C) 1544

(D) None of the above

If a sphere of radius r is melted and
recasted into a cone of height h, then the
radius of the base of the cone will be

r3

A 3"~

-
(B) 3,/;7)
3
.
(C) 2,/7

(D) None of the above
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(A) 54480 fi.fer.

(B) 56680 f.fel.

(C) 58840 f.fel.
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110. A train moving with a uniform speed

111.

112.

RL19/MPR-I/A

clears a platform 110 metres long in
10 seconds and passes a telephone post
in 5 seconds. The speed of the train is

(A) 80 km/hr

(B) 81 km/hr

(C) 82 km/hr

(D) None of the above

The number of rotational axes of
symmetry for a square is

(A) 2

(B) 4

(€) 6

(D) None of the above

In a triangle ABC, the side BCis extended
up to D such that CD=AC. If
/ZBAD =109° and ZACB = 72° then the
value of ZABC is

(A) 35°

(B) 45°

(C) 40°

(D) None of the above

27
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e 5 Crwe ooy | @@ el
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(A) 80 ffi/ g%
(B) 81 f¥fi/ga%
(©) 82 fFfi/g%

(D) T @Ffe

(b I5feFeas g AT SCwa TR 2

A) 2

fag® ABC-99 BC A%F D 78 9o
e M = WS CD=AC =W, M
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ZABC-&q W 2

(A) 35°
(B) 45°
(C) 40°
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113.

114.

115.

116.

If in the formula C = , nis increased

+nr
while e, R and r are kept constant, then C

(A) increases and then decreases
(B) decreases
(C) increases

(D) None of the above

In AABC, AC=24cm, BC=10cm and
AB=26cm. Then the radius of the
inscribed circle will be

(A) 26 cm

B) 4 cm

(C) 13 cm

(D) None of the above

The father of behaviourism is
(A) J. B. Watson

(B) E. L. Thorndike

(C) Aristotle

(D) None of them

Question-Answer Method is given by
(A) M. Montessori

(B) Galton

(C) Socrates

(D) None of them
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=
R+ nr

r-&3 T &F3F 2@ AT, O@ C-«F T+

@ n I o R e, R GR

(A) I I @R 2T 2P “I™
(B) 3r1 “I

(©) 3=

(D) ToiEa (e T

ABC fagee AC =24 (¥, BC =10 G 9
AB =26 (i =& wwgces IPTe 20

A) 26 ¢
(B) 4 CIfy
(C) 13 Coif¥

(D) ToAF (P02 &

2CITE ST S| 20T
(A) @¥. I

(B) SITeH

(C) SO

(D) 47 (FT3 I
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117. NUEPA is concerned with 117. NUEPA 7=f$e REg 2o

(A) educational evaluation (A) PrFRETS R

(B) educational planning

(B) M1 “Ifeae

(C) educational unity Q) ﬁ'ﬁw G

D) None of the above
(D) (D) Tcs (TGS T

118. The goal of teaching is
118. PPFmCTd o7 2%

(A) to make desirable change in

behaviour (A) SIBHCR “ewie RS F41
(B) to impart general knowledge (B) RS &I« Tl 1
(C) to give information (C) O 27 I
(D) None of the above (D) To[ER (@02 T

119. As per the RTE Act, 2009, whose
responsibility is to prepare a school

119. RTE Act, 2009 SFR[, RweEr Tmw

development plan? AR eEe FAR Irg I TR 2
(A) School Headmaster (A) RueiER 2iie s

(B) School Development Committee (B) e Tae R

(C) School Management Committee (©) fmrer qeE S

(D) None of the above (D) /R (@R W

120. The number of stages of cognitive domain

is 120. ST CRCAT B ORI 2

A) 3 A) 3
(B) 4 (B) 4
(C) 6 (C) 6
(D) None of the above (D) ToEd (FIfoe T
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PART—VI / <i9—VI
ENVIRONMENTAL STUDIES / “ifsta=if<w

Directions : Answer the following questions by

selecting the correct option.

121.

122.

123.

124.

Growing the same crop over and over
again and using so many chemicals
makes the soil

(A) fertile
(B) infertile
(C) useful for a special kind of crop

(D) None of the above

Which
geothermal energy?

type of energy resource is

(A) Conventional, renewable
(B) Non-conventional, non-renewable
(C) Non-conventional, renewable

(D) None of the above

The largest brackish water lake in Asia is
(A) Chilika Lake

(B) Vembanad Lake

(C) Wular Lake

(D) None of the above

Mineral stocks exist on earth surface are
(A) renewable

(B) non-renewable

(C) partially renewable

(D) None of the above
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121.

122.

123.

124.

I3 GO GPB 4P *PT IEEE O «G3R
NI sllHRlﬁ(.ﬂ*ﬂ NISEE ‘l”ﬁbﬁq’

(A) T F@ @A

(B) SFES FCI (O
(C) ROW 2FR ¥ &) 2FS FC (I
(D) T*IEa (@ T

T WS (I e JfeTm 2
(A) 2BfeTs, TAFIICIN

(B) SBfeTS, SN

(C) SEBfT®, TP

(D) To[CaF (P02 &

@R KT JZeN TR (I SO ZOA I 29
(A) o= 2%

(B) CSFIm 2w

(C) TeT 2w

(D) TR (@IS T

T-98 Alee Yfe Toom ze
(A) =RFREICE]

(B) SRR

(C) SRR FFREICN

(D) ToEa (e T
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125.

126.

127.

128.

RL19/MPR-I/A

Nuclear power is mainly derived from
(A) uranium

(B) platinum

(C) silver

(D) None of the above

The disease caused by Cadmium
pollution is known as

(A) Minamata

(B) Itai-itai

(C) Arsenicosis

(D) None of the above

Which of the following diseases is not
caused by mosquitoes?

(A) Dengue

(B) Filaria

(C) Plague

(D) None of the above

The pollutant that causes hole in the
ozone layer is

(A) SFgq

(B) Nitrous oxide

(C) CFC

(D) None of the above
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125. “RNIRS *f& 24T “1ew I
(A) TTCIFEN (AP

(B) 20BN ¢S

(C) Freter (A

(D) I (@A T

126. FICHAR THCH T @ @l 27 o 2
(A) =BT

(B) 2572-2512

(C) SRR

(D) TocEa e T

127. e @ @i s &k =1 9
(A) c®%
(B) Fiacar

(C) czil

(D) Tofcaa (@M T

128. scwiEcd 2w el e el 2w
(A) SFg
(B) RGP wRY

(C) CFC

(D) T*I7a @Fe
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129.

130.

131.

132.

The main cause of acid rain is
(A) air pollution
(B) water pollution
©)

soil pollution

None of the above

The example of a natural ecosystem is

(A) agricultural land

(B) aquarium

(C) grassland

(D) None of the above

Detritus food chain starts with

(A) green plants

(B) dead organic matter

(C) consumers

(D) None of the above

Very minute plants floating in the water
are called

(A) nekton

(B) phytoplankton

(C) benthos

(D) None of the above

RL19/MPR-I/A

32

FRESHERS NOW

129. wibTe 3B 51 IR =5
(A) <

(B) &gl

(C) e

(D) T7cEa (T T

130. «f AFfoT qrEecEd Tnzael 2@

(A) B &N

131. FFF qMPEE WF o
(A) & Tfew AT
(B) I© (&1 *me (A

(C) A (AT

(D) Tofcaa (@b T

132. & SPH S[o%Y Sfewora @l =

(C) =17

(D) T#IEa @Fe
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133. Decomposers constitute a group of

organisms which

(A) consume living animals and plants
(B) consume living animals

(C) consume dead organisms

(D) None of the above

134. CITES is an international treaty on
(A) air pollution

(B) water pollution

(C) conservation of endangered plants
and animals

(D) None of the above

135. National park is one kind of
(A) ex-situ biodiversity conservation

(B) in-situ biodiversity conservation

(C) both ex-situ and in-situ biodiversity
conservation

(D) None of the above

136. One of the conventional sources of energy

is

(A) wind energy

(B) tidal energy

(C) hydroelectric energy

(D) None of the above

RL19/MPR-I/A 33

FRESHERS NOW

s 28 ¢z SR I-1 4w 27107 22
P

133.

(A) &% Tfer e A
(B) &% 21
(C) T o

(D) A @A T

134. CITES % 930> @i bfe
(A) TR TFR

(B) ST TR

(C) TR = ¢ Tfew awiform e Tgaw

(D) T#7a @Fe

135. SIOR Twe 26 GFUAFE
(A) @SIPp GRCAba A
(B) IR SRcafb@ weamwal

(C) @IP @R TP TewedlE  SRba
SR

(D) I (@i T

7> 2bfere =fem Tt =
(A) IRt

(B) (SRR-®OR *f&

(C) wERpR e

(D) ToEa (e T

136.
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137. Plankton, nekton and benthos are not | 137. 2%0, CTFo R (@IPT—E3  Tomresfer

the components of e [ N

(A) river ecosystem (A) TWF IFESCT
(B) oceanic ecosystem (B) TCud 2o
(C) grassland ecosystem (C) @gfﬁa BIREATIEY
(D) lake ecosystem (D) 307E AT

138. In ecosystem, when energy moves from | 13g. Argec e TU GF ﬂ%@? @A oK G
one trophic level to another, it ?I@@N QifEs = o e

(A) increases

(A) I o=

(B) decreases

(B) 21 ™

(C) remains constant

(C) =T AT

(D) None of the above (D) TAEd (@R T

139. The smallest river in Tripura is

139. f@@@R R (”b Ml 2o

(A) Manu river

(4) =
(B) Gumti river B) ¢ o)
(C) Haora river R P

(D) None of the above
(D) T (TGS T

140. Which of the following cycles is
concerned with energy flow in the 140. ff PR valt AIrgecE e e 7o

ecosystem? TRES 2

(A) Food cycle (A) w5 O

(B) Sulfur cycle (B) TP e

(C) Chlorine cycle (C) @R vF

(D) None of the above (D) ToEd (@R
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141.

142,

143.

144.

Which
Tripura with the rest of India?

national highway connects

(A) NH 53
(B) NH 8
(C) NH 10

(D) None of the above

The highest peak of Longtarai range is
(A) Sakhan

(B) Jarimura

(C) Bethling sib

(D) Feng pui

A river with high BOD value indicates
(A) high pollution level

(B) clean water

(C) presence of crocodile

(D) None of the above

Eutrophication results from

(A) run off from agricultural field and
sewage pollution

(B) vehicle exhaust

(C) pesticides

(D) None of the above
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(I EOR TR [@PEIE  SRedEd e
T-UCTT X TS (AR ?

(A) @ @35 53
(B) @ @35 8
(C) & @35 10

(D) I (@A T

FETHZ ST L X 25
(A) T4

(B) Sl

(C) @ferer AR

(D) &% R

> w1 BOD-&3 T (391 2¢31 ©f 3o ¢
(A) TR @l @

(B) & “fgE

(©) I Tz

(D) ToAA (P02 &

TG T

(A) BICEE TN (A e TE o€ amNd
AR T

(B) TR (F oS (ERE iy
(C) FHAMF (AT
(D) T#I7a @Fe
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145. World Ozone Day is observed on 145. 4 scae Wt onfere =3

(A) 2nd September (A) 271 OTHT

(B) 16th September (B) 163 (LT

(C) 21st March (C) 211 6

(D) None of the above (D) T7cEa (FFe T

146. Rickets is caused by the deficiency of 146. 30 @eifba 9 7o

(A) vitamin B, A) SO B,-93 s/o@
(B) vitamin C (B) febIffe C-«3 S/eR
(C) vitamin D (C) febIfm D-9g s
(D) vitamin A (D) oI A-97 SeR/

147. Which of the following places in our | 147. e SReNSE M @Eb SINTE (e

country is a ‘cold desert’? @3 Mree ﬂ?l“_\'gﬁf?
(A) Jaisalmer (A) ST

(B) Ladakh (B) =M

(C) Meghalaya (C) R

(D) Darjeeling (D) wIfSifer:
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148. Which of the following is essential for | 148. fEfife @=fb faomeaf=  todl  Fac®
producing haemoglobin? SO ?
(A) Calcium (A) FETPRIN
(B) Iron (B) =
(C) Magnesium (C) SIaICTR
(D) None of the above (D) TR (FIb3 =
149. The protocol which decided to completely | 149. CFC <2 V{“"i“f A AR S @ er\@m
phase out CFC is known as ERIPE RS
(A) Cartagena Protocol (A) FOTCS (AT
(B) Montreal Protocol (B) WfGel (21CoIeat
(C) Kyoto Protocol (C) I AT
(D) None of the above (D) TR (FID3 =
150. Tripura is situated in 150. fa7[a1 SHiFe 2=
(A) seismic zone I (A) PPINS &e 1-9
(B) seismic zone V (B) PAIE (&M V-9
(C) seismic zone IV (C) PPN (& V-9
(D) None of the above (D) ToicaR &= T
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READ THE FOLLOWING INSTRUCTIONS CAREFULLY : | fayfeifre fqca qen oicen #¢q I
1. Out of the four alternatives for each question, only 1. 2fSH 20w Teg o @ vl [ee rea =iz o1 (4
one circle for.the correct answer is to be darkened R PRI Tealta e OMR Teaica oredl Q@%
completely with Black Ballpoint Pen on the OMR . ofer e
Answer Sheet. The answer once marked is not SRS AL STAAC PICT T IS PR
liable to be changed. 2@ | [ Ted ofers T 20 (9IE OIF oF AR
2. The candidates should ensure that the OMR RRRICECIN
Answer Sheet is not folded. Do not make any stray o, SId% OMR TeTeiEl S/ -
marks on the OMR Answer Sheet. Do not write o ) 4 N
your Roll No. anywhere else except at the specified OMR 3"@@ CICIF WIS <BIB1 <1 Ty (o741 A 1 |
space on the OMR Answer Sheet. #RAPFR IR (F1e1 99 OMR Tea#[cq e Sen 2ol
3. Handle the Question Booklet and OMR Answer S (G SREE fericae o |
Sheet with utmost care, as under no
circumstances (except technical defect), another 8. OMR U&7 G 2PI7CAq 20C I POl BeT3
set of Question Booklet and OMR Answer Sheet IS A | (A TRECeR (YU @ ¢ rfere @i
will be provided. ZT!) OMR TG9[q 8 2¥o[q “fqés F41 T 1 |
4. The candidates will write the correct Question S f N o < .
Booklet Number and OMR Answer Sheet Number 4. " ~4 I OMR PeI7AT 73T 4R
in the Attendance Sheet. 2P7ICaq w13 ?\lgﬂw @ fordee 27 |
5. Thet ca}nlciidgtef zre not iilowe];i. ;co c?rry any textual 5. “RrFIRE SHCHD I 43R FCH BT P16 T[] S+
material, printed or written, bits of papers, pager, 1 1 T, W@E{@ © ST, 7T,
mobile phone, electronic devices or any other
material except the Admit Card and Photo Identity GRS I, Bfel) (PICATIRP 2CTRG el (2 forca #Irl
Card inside the Examination Hall/Room. B /ICE A FACO (ST 2E 1 |
6. Each' candidate must show on'demand his/her 6. 2 3 TSRED W <31 3 @ewa e
Admit Card and Photo Identity Card to the .
Invigilator /Examination Officials. Vi - S e IR 1 2 2Aer AR
7. No candidate, without special permission of the I SORG IME S FHI ARCTAGH FE THICS G
Centre Superintendent or Invigilator, should P |
change his/her seat in the Examination o ~ ~An o
Hall/Room. 7. CTOIR AIRICGACTD 91 2fefecete - ag e SeEie 2ol
8. The candidates will have to sign twice in the ICKiIE RCE/FEF O P F ARTOT P09
Attendance Sheet presented by the Invigilator on MISSOIRIN
duty; first ft taki thei t i th o e o o
o, St aftel taxing  taclh seats 1 M| 8. cRmidice wfefcelom e wiicheest q5-9 124N
Examination Hall/Room and second at the time of .
handing over their OMR Answer Sheet to the T FICS 2, AYTAR IR 20 /FOT S S
Invigilator. B0 217 43R Ao TfefesoeEd fIFb OMR Ted7iq
9. The candidates should not leave the Examination S (TSIF T |
Hall/Room without handing over their OMR y
Answer Sheet to the Invigilator on duty and 9. PO %_‘ﬂ(\ ;El T TFT A AR FOTHO
without signing the Attendance Sheet twice. Cases SSSE0A-GF [WF0 OMR TSI &Nl (M3l oo
where a candidate has not signed the Attendance GIC 2RrFI T 297/ ONel FICO ARG 1 | AW
Sheet a second time will be deemed not to hgve I AT S A5-« 33T FE T S O
handed over the OMR Answer Sheet and dealt with R !
as an unfair means case. S O OMR TEIAE S FCIA ACE 91T BCF GIR 9l
10. Use of any type of calculating device is strictly 3] be R f2aACa 441 23 |
prohibited. 10. @-CII GRCT FIEFCAB A2 F7jofeel i |
11. The candidates are governed by all the rules and
regulations of the Board with regard to their 11, ~Q 2E /PR R el (ees o e
conduct in the Examination Hall/Room. All cases I Wﬂﬂ@ BIfeT® 2C3 | 39 K¢ o] bo IR @R
of unfair means will be dealt with as per rules and o e fegdte W@ s =@ 1
regulations of the Board. ) )
12. No part of the Question Booklet and OMR Answer 12. Cw ¢ ZIC02 A1 G OMR TEICAT (PICAT =
Sheet shall be detached under any circumstances. (Rl 1 eTml F1 AT <0 |
13. On completion of the test, the Candidate. ~rnus‘c 13. “3rF o 28T 7 2[RI SE BT OMR T€d9d
hand over the OMR Answer Sheet to the Invigilator = Ao o e
in the Hall/Room. The candidates are allowed to ’ USRS q:oqjﬂo RASIBLAGCTT PR
take away the Question Booklet with them. CTCel |~ 2o IR A I (TS A |
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